
 

 

79-04 Mustang bolt on coil over kit instruction  

Upper Bar Installation  

1. Spare tire well will have to be removed or notched for this kit to work 

2. Place upper bar in between frame rails, push it as far forward as it will go (make sure its squared 

up) 

3. Mark holes on frame rail and drill with a 3/8 drill bit  

4. Insert 3” 3/8 grade 8 bolt with washer though the outside of the frame rail though the upper 

shock bar.  Secure with 3/8 locking nut and washer (torque to 30lb-ft) .  That’s it for the upper 

bar 

 

Bolting lower mounts to the rear end housing  

5. Slip lower clamps with arms over the rear end hosing (there is a left and a Right) using 1 ¼  3/8 

grade 8 bolt insert it into lower clamp arm and through the holes in the rear end housing, apply 

the 3/8 locking but but do not tighten yet  

6. Now apply the other half of the clamp using 1 ¼  3/8 bolts and tighten down with 3/8 locking 

nut until the spacer in the clamp touches the other half of the clamp (torque to 30lb-ft) . 

7. Now tighten up the bolts on the arms of the lower mounts(torque to 30lb-ft)  , that’s it for the 

lower  

 

 



Lower Shock Clamp Area 

8. Bolt the lower shock mounts to the lower clamping arms using 1 ¼ 3/8 bolts and 3/8 lock nuts 

(torque to 30lb-ft)   

9. Install your shocks using provided ¼ inch spacers if needed  

 

 

 

 

 



 


